NAME

ANSWERS

Year 11 Chemistry Assignment
Redox Reactions

(a) 0,0 —» +2,-1  (Yes, redox)

(b) +1,-1,+1,+4,-2 — +1,-1, +1,-2, +44,-2  (No, not redox)
() 0,0 —» +1,-2 (Yes, redox)

(d) +1,-1 — +1,-1 (No, not redox)

(a) Fe — Fe’ + 3¢
Oz +4e — 202
4Fe + 30, — 4Fe* + 60*

(b) Zn — Zn** + 2¢
Cu** +2e — Cu

Zn + Cu** — Zn* + Cu

(c) HO, —» O, + 2H" + 2¢
2e¢ + 2H" + OCI' — CI' + H,O
HzOz + OCI' — 02 +Cl + HZO

(d) SO, + 2H,0 — SO,* + 4H* 4+ 2¢
105 + 6H" + 6e — I + 3H,0
35S0, + 105 + 3H,0 — 3S0.> + 6H* + T

(e) MnOy + 8H' + 5¢ — Mn** + 4H,O
Fe** — Fe** + e
MnO, + 8H* + 5Fe** — Mn?*" + 4H,0O + 5Fe**

(f) HoS — S + 2H" + 2¢
6e + 14H* + Cr,0* — 2Cr** + TH,0
3H,S + 8H* + Cr,07* — 3S + 2Cr** + 7TH,0

(a) Oxygen (O»)
(b) Iron (Fe)
(c) Iron (Fe)
(d) Oxygen (0O»)



